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Topic:- Atomic Structure: 

Subject Topic: Discovery of electron, charge to mass ratio of  Electron. Charge on Electron, Discovery of proton and neutron, Atomic 

and  mass number, iso bars, isotopes, isotones, isoelectronic, isodiaphers 
1.  Which of the following statement about the electron is 

incorrect:- 

(1) It is negatively charged particle 

(2) The mass of electron in equal of to the mass of 

neutron. 

(3) It is a basic constituent of all the atoms. 

(4) It is constituent of cathode rays. 

2. Among the following the heaviest subatomic particle is- 

(1)  Electron     (2) Neutron     (3) Proton     (4) Positron  

3. Charge of mass ratio of Electron was determined by- 

(1) James Chadwick 

(2) J.J. Thomson  

(3) Goldsatein 

(4) Emest Rutherford 

4. Proton was discovered by- 

(1) Chadwick   (2) Thomson   (3) Goldstein   (4) Bohr 

5. The charge on the atom containing 8 protons, 9 neutrons 

and 9 electrons is- 

(1) -1              (2) +1                (3) zero            (4) -2 

6. The radius of an atom is of the order of- 

(1) 10
-10

cm   (2) 10
-13

cm      (3) 10
-15

cm          (4) 10
-8

cm 

7. iso electronic species are- 

(1) K
+
, cl

-
      (2) Na

+
, Cl

-
      (3) Na, Ar          (4) Na

+
Ar  

8.  A diapositive ion has 16 protons, What is the number of 

electrons in its tetra positive ion?  

(1) 16          (2) 14                (3) 12                (4) 10                  

9. Isotopes are those which contain- 

(1) Same No. of Neutrons 

(2) Same physical properties. 

(3) Different chemical properties. 

(4) Different mass Number. 

10. How many neutrons are present in bipositive Zinc, while   

A = 70 

(1) 34         (2) 40               (3) 36                   (4) 38 

1- bysDVªksu ds lUnHkZ esa fuEufyf[kr esa ls dkSulk dFku xyr 

gS%& 

¼1½ ;g _.kkosf'kr d.k gksrk gSA 

¼2½bysDVªku dk nzO;eku U;wVªkWu ds nzO;eku ds cjkcj 

gksrk gSA 

¼3½ ;g lHkh ijek.kqvksa dk ewy vo;o gksrk gSA 

             ¼4½;g dSFkksM+ fdj.kksa dk vo;o gksrk gSA 

2- fuEu esa ls lcls Hkkjh miijek.koh; d.k gS%& 

¼1½  bysDVªkWu   ¼2½ U;wVªkWu  ¼3½ izksVkWu     ¼4½ ikWftVªkWu 

3- bysDVªkWu ds vkos'k o nzO;eku vuqikr dk fu/kkZj.k fdlus 

fd;k Fkk& 

¼1½ tsEl psMfod         ¼2½ ts&ts FkkWelu 

¼3½ xksYMLVhu           ¼4½ ,usZLV jnjQksMZ 

4- izksVksu fdlds }kjk [kkstk x;k gSA 

¼1½ pS.Mfod  ¼2½ FkkWelu   ¼3½ xksYMLVhu   ¼4½ cksj 

5- ,d ijek.kq esa 8 izksVkWu] 9 U;wVªkWu rFkk 9 bySDVªkWu gS bl 

ijek.kq ij vkos'k gS%& 

¼1½ &1        ¼2½ $1      ¼3½ 'kwU;        ¼4½ &2 

6- ,d ijek.kq dh f=T;k dh dksfV gksrh gS%& 

(1) 10
-10

cm   (2) 10
-13

cm      (3) 10
-15

cm      (4) 10
-8

cm 

7- lebySDVªkWfud Lihf’kt gS%& 

(1) K
+
, cl

 -
      (2) Na

+
, Cl

-
    (3) Na, Ar        (4) Na

+
Ar 

8- ,d f}/kkukRed vk;u esa 16 izksVkWu gS] prq"/kukRed vk;u 

esa bysDVªkWuksa dh la[;k gksxh%& 

¼1½ 10          ¼2½ 14      ¼3½ 12         ¼4½ 10 

9- leLFkkfud gksrs gS ftuesa& 

¼1½ U;wVªkWuksa dh la[;k leku gksA 

¼2½ HkkSfrd xq.k leku gksA 

¼3½ jklk;fud xq.k vleku gks 

¼4½ nzO;eku la[;k vyx&vyx gksA  

10- f}/kukRed ftad esa dqy U;wVªkWu fdrus gksaxs] tcfd         

A = 70 

(1) 34         (2) 40               (3) 36               (4) 38 
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11. Sum of No. of neutron and proton in an isotope of 

hydrogen is- 

(1) 3          (2)  4                (3) 5                      (4) 6 

12. The triad of nuclei that is isotonic is-  

(1) 
14
6
𝐶,

14
7
𝑁,

19
9
𝐹            (2) 

12
6
𝐶,

14
7
𝑁,

19
9
𝐹 

(3) 
14
6
𝐶,

14
7
𝑁,

17
9
𝐹             (4) 

14
6
𝐶,

15
17
𝑁,

19
9
𝐹 

13. Electronic configuration of metallic ion M
+2

 is 2, 8, 14 

and Ionic mass is 56 amu then number of neutron in that 

nucleus will be:- 

(1) 30        (2) 28                 (3) 27                  (4) 32 

14. Anion x
-2

 contains 18 neutrons in its nucleus and 18 

electrons and side of the nucleasea, then mass number of 

this element will be:- 

(1) 35.46       (2) 34               (3) 36                     (4) 39 

15. How are the radius of nucleus (r) and mass number (A) 

related to each other? (R0 = 1.33 x 10
-13

cm) 

(1)  𝑟 = 𝑅0 𝐴
1

2                       (2) 𝑟 = 𝑅0 𝐴
1

3 

(3) 𝑟 = 𝑅0 𝐴3                        (4) 𝑟 = 𝑅0 𝐴2 

16. Be
+2

 is iso electronic with which of the following ions?  

(1) H
+
          (2) Li

+
            (3) Na

+
                    (4) Mg

+2
 

17. An element have atomic weight 40 and it’s electronic 

configuration is 1S
2
 2S

2
 2P

6
 3S

2
 3P

6
 then its atomic 

number and number of neutrons will be- 

(1) 18 and 22                    (2) 22 and 18 

(3) 26 and 20                    (4) 40 and 18 

18. Configuration of atom A,B,C are given as         

A→[Z(90)+n(146)] , B →[Z(92)+n (146)] C→[Z(90) +n 

(148)]  

A = 236,  B = 238,  C = 238 

(1) A and C isotope         (2) A and B isobar 

(3) B and C isobar           (4) Band C isotope 

Select the wrong statement- 

(1) Only a, b                   (2) only c, d 

(3) Only b, d                  (4) only a, c 

19. Identify the correct match:- 

      ‘Column I                                     Column II 

(a) 32𝐺𝑒
76 ,33 As77             (i)  isotopes 

11- gkbMªkstu ds ,d leLFkkfud esa U;wVªkWu ,oa izksVkWu dh 

la[;k dk ;ksx gS%& 

(1) 3          (2)  4                (3) 5                   (4) 6 

12- leU;wVªkWfud ukfHkdksa dk f=d gS%& 

(1) 
14
6
𝐶,

14
7
𝑁,

19
9
𝐹            (2) 

12
6
𝐶,

14
7
𝑁,

19
9
𝐹 

(3) 
14
6
𝐶,

14
7
𝑁,

17
9
𝐹             (4) 

14
6
𝐶,

15
17
𝑁,

19
9
𝐹 

13- fdlh /kkfRod vk;u M
+2
 dk bysDVªkWfud foU;kl 2] 8] 14 

rFkk bldk vk;fud Hkkj 56 amu gS rks ml ukfHkd esa 

U;wVªkWuksa dh la[;k gksxh%& 

(1) 30        (2) 28                 (3) 27              (4) 32 

14- fdlh _.kk;u x
-2
 ds ukfHkd esa 18 U;wVªkWu gS rFkk 18 

bysDVªkWu ukfHkd ds ckgj mifLFkr gS rks bl rRo dh 

nzO;eku la[;k gksxh%& 

(1) 35.46       (2) 34               (3) 36             (4) 39 

15. ukfHkd dh f=T;k 𝑟 rFkk nzO;eku la[;k (𝐴) esa laca/k    

gS%& (R0 = 1.33 x 10
-13

cm) 

(1) 𝑟 = 𝑅0 𝐴
1

2                       (2) 𝑟 = 𝑅0 𝐴
1

3 

(3) 𝑟 = 𝑅0 𝐴3                        (4) 𝑟 = 𝑅0 𝐴2 

16. fuEu vk;u esa ls Be
+2
 fdlds lebysDVªkWfud gS%& 

(1) H
+
          (2) Li

+
            (3) Na

+
            (4) Mg

+2
 

17. ,d bysDVªkWu dk ijek.kq Hkkj 40 gS rFkk bldk bysDVªkWfud 

foU;kl 1S
2
 2S

2
 2P

6
 3S

2
 3P

6
 gS rks bldk ijek.kq dzekad 

rFkk blesa mifLFkr U;wVªkWu dh la[;k gksrh gS%& 

(1) 18 and 22                    (2) 22 and 18 

(3) 26 and 20                    (4) 40 and 18 

18. Ikjek.kq A, B, C ds foU;kl fn;s x;s gS%& 

A→[Z(90)+n(146)] , B →[Z(92)+n (146)] C→[Z(90) 

+n (148)]  

A = 236,  B = 238,  C = 238 

(1) A and C leLFkkfud         (2) A and B leHkkfjd 

(3) B rFkk C leHkkfjd           (4) Band C leLFkkfud 

mijksDr esa ls xyr dFku pqfu;s& 

(1) A, B dsoy                 (2) C, D dsoy 

(3) B, D dsoy                      (4) A, C dsoy 

19. lqesy dks igpkfu;s& 

    dkWye I                          dkWye II 

(a) 32𝐺𝑒
76 ,33 As77             (i)  leLFkkfud 
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(b) 26𝐹𝑒
57 ,26 Fe58              (ii) isodiaphers 

(c) 92𝑈
235 ,90 Th231           (iii) isobars 

(d) 1𝐻
3 ,2 He3                  (iv) isotoness 

(1) a(iv), b(i), c(ii), d(iii)           (2) a(ii), b(i), c(iv), d(iii) 

(3) a(iv), b(iii), c(ii), d(i)           (4) a(ii), b(iii), c(iv), d(i) 

20. For two atoms 
𝑚1

𝑧1
𝐴 and 

𝑚2

𝑧2
𝐴 we have 

m1-z1 = m2-z2 & m1≠ m2, z1 ≠z2 the species would be 

called 

(1) Isotopes                          (2) isotones     

(3) isobars                             (4) isoelectronic 

(b) 26𝐹𝑒
57 ,26 Fe58              (ii) vk;lksMk;QZj 

(c) 92𝑈
235 ,90 Th231           (iii) leHkkfjd 

(d) 1𝐻
3 ,2 He3                  (iv) leU;wVªkfud 

(2) a(iv), b(i), c(ii), d(iii)        (2) a(ii), b(i), c(iv), d(iii) 

(3) a(iv), b(iii), c(ii), d(i)        (4) a(ii), b(iii), c(iv), d(i) 

20. nks ijek.kq 
𝑚1

𝑧1
𝐴 rFkk 

𝑚2

𝑧2
𝐴 ds fy;s fn;k x;k Gs%& 

m1-z1 = m2-z2 & m1≠ m2, z1 ≠z2 rks A o B gkssaxs& 

(1) leLFkkfud                    (2) leU;WwVªkfud               

(3) leHkkfjd                      (4) lebysDVªksuh; 
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ANSWER SHEET 

Question 1 2 3 4 5 

Answer 2 2 2 3 1 

Question 6 7 8 9 10 

Answer 4 1 3 4 2 

Question 11 12 13 14 15 

Answer 1 4 1 2 2 

Question 16 17 18 19 20 

Answer 2 1 3 1 2 

 

 


